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Q1. A man pushes awall and fails to displace it. He does
(a) Negative work (b) Positive but not maximum work
(c) No work at all (d) Maximum work

Q2. Abody of mass 5 kg at rest is under the action of a force which gives:it a velocity
given by v=3t m/s, here t is time in seconds. The work done-by. the force in two
seconds will be:

(@) 90J (b) 45
(c) 1801J (d)301J

Q3. Aforce F = (5i + 3j + 2/)N is applied over a particle which displaces it from its
origin to the point P=(2t — J)m; The work done the particle in joules.is:
(@ 10J (b) 7.3
(c)-7J (d)137

Q4. Aforce of (4x%+3x)N acts'on a particle which displaces it from x = 2mto x =
3m. The work\done by.the force is
(2)-32.8J (b) 3:28 J
(c)0.3281 (d) zero

Q5. Aconstant force F = (i + 37 +'4k) N acts on a particle and displace it from (-1m ,2m
,Am) to (2m ,-3m\,Im):
(@) 10 ] () 131
© -79 (d)-12]

Q6. Ifforce F-= (3x1+ y2J) Nis acting on a body and body moves from (1m, 2m, 1m)
to (3m, 3, 8m), then find the work done due to the force
(a) 22 ()2
11 31

Q7. Aconstantforce F = (i + 3f + 4k)N acts on a particle and displace it from
(-1Im, 2m, 1m) to (2m, -3m, 1m)
(@)8J (b)-121
(c)-4] (d)113

Q8. Calculate work done in moving the object from x=2 to x=3m from the graph shown
here
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(@) 20 J (b)
() 40 J (d)
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Q9. AForce Facting on an object varies with distance x as shown in the figure. The work
done by the force in moving the object from x=0 to x=8m is

(@) ZeroJ
(c)-401J

(b)'80.J
(d).40.J

Q 10. A force F acting onan object varies with distance x as shown in the figure. The work
donedby-the)force in'moving the object from x.=.0to-x = 20 m is

1 100
Fd
£ |}
; 5'} o
257
“ L L 1 }
5 10 15 20
X(inm) —p
(a) 500 J (b) 1000 J
(c) 1500 ] (d) 2000 J

Q 11. A force (F) acting on a particle varies with the position x as shown in figure. Find the
work done by force in displacing the particle from x = -2m to x = 0?

F(N)

10f-------~ .
—2 /
3 x(m)
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(a) 10J
()41

Q 12. A body of mass 3 kg is under a force, which causes a displacement in itis given by S =

(b) -10J
(d) -4 ]

§ (in m). Find the work done by the force in first 2 seconds

()2 (b) 3.8
(c)5.2] (d) 24
Answer Key
Ql c Q.2 a Q3 b Q4 a Q5 d
Q6 a Q7 b Q8 d Q9 a Q.10 ¢
Qll b [Q12 d
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